HJ-falt 2018-06-24

Klass C3
Plac. Namn Klubb 1 2 3 4 5 6 7 8 Sum Std Medalj
TI[S|T{I| S|TII|S|IT|{I|S|TII|S|T|{I| S|T|I|S|T]|!I|S]|Traff|Inner|Totalt
1 Christian Mohr BPS 4216 |6|4|10(5[1]|6|6|3|9 [5]|1]|6]|6|/4|10|6|4|10]|5|2|7| 43 | 21 64 S
2 Jorgen Johansson UPK 6(4(10|5]|2| 7 |4|2|6|6]|2| 8 |5[1|6|6]|4|10|6|2| 8 [5|1|6| 43 | 18 61 B
3 Tobias Eckerlid UPK 4(1]5|5|1| 6 |6[3]|9|6|0| 6 |6[2|8]|5|2|7 |6]/2|8 |5|1|6( 43 | 12 55 B
4 Maria Svensson UPK 5/1|16|3|2|5|4]2|6]|5|3| 8 [5|2|7|6|5|11|(4]|0| 4 |4|2]|6| 36 17 53 B
5 Christian Gustafsson UPK 3({1|14|5(2|7 |4]1|5|5|4]|9 (5]|3|8]|5|/1|6 (5|16 |5(1|6| 37 14 51
6 Morgan Sandin UPK 3(0[{3|5|3|8(3|0(3]|4]|3|7|3[2|5]|4|1|5|2|0[2]4|3|7| 28 | 12 40
Klass C2
Plac. Namn Klubb 1 2 3 4 5 6 7 8 Sum Std Medalj
TS| T S|T]U|S|IT{I|[S|T|I|S|T{I|S|T|I]|S|T|!I|S]|Traff|Inner|Totalt
1 Scott Dance UPK 314 1|6]|3|9 |4|2|6|5]|2|7 |5[3[8]5]|2|7 |4|2|6|6]3]|9]| 38| 18 56 B
2 Jonny Svensson UPK 4(1]15|14|1|5(5(3]|8|6|3|9(3[1|4]|5|/3|8 5|27 ]|6|1|7| 38| 15 53 B
Klass C1
Plac. Namn Klubb 1 2 3 4 5 6 7 8 Sum Std Medalj
TI[S|T{I| S|TII|S|IT|{I|S|TII|S|T|{I| S|T|I|S|T]|!I|S]|Traff|Inner|Totalt
1 Jeanette Svensson UPK 2(0l 2 [4]11|5(|2|0|2|6(4]10(4]|1|5|6(2| 8 [5]/2| 7 |5|/0|5| 34 10 44
2 Robert Karlsson UPK 4(0| 4 14|37 |4|1]|5|4|1|5|5[1|6]5|3| 8 |5({0|5|3|0(3| 34 9 43
3 Daniel Carlsson UPK 3(2(51|4|0|4|5(2|7|3]|0|3 |4|2|[6|5]|2]7 2|13 (|5]1|6]| 31 | 10 41
4 Hakan Berglund FOK 2(11 3 (o|joJ0|1]0]1(3(2|5(2|0]|2|3(1|4 (4|04 |4|0]|4]| 19 4 23
5 David Larsson UPK ofofo|ojo|o0|1|0f1]|2]|0|2 |2|[0f2]|2]2|4 2|02 |5|1|6| 14 3 17
Klass VA
Plac. Namn Klubb 1 2 3 4 5 6 7 8 Sum Std Medalj
T S|TI1] S|T{U[S[T| 1] S|T{L[S|T|I]S|T|{I|S|T|!I|S|Traff|Inner|Totalt
1 Jan-Erik Johansson UPK 314 |5]2|7 |2|0f2]|4]|0|4 |5[1|6]|5|1|6 |4|2(6 |5]2|7| 33 9 42
2 Sture Larsson-Jones UPK 4(1]15 2|13 (1]|0|1|3|2|(5|3]|1|4|4|1|5(|0]0jo0|2|0f2| 19 6 25
Klass VY
Plac. Namn Klubb 1 2 3 4 5 6 7 8 Sum Std Medalj
TS| T S|T|U|IS|IT(I|[S|T|1I|S|T{I|S|T|I1]|S|T|!I|S]|Traff|Inner|Totalt
1 Stig Andersson UPK 2(113 (2|0l 2 |4]|1|5(3(1|14 (2|0]2|3(2(5 (2113 |3]|0]|3| 21 6 27




